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Sixth Semester B.Arch. Degree rc,xan*ip*{iono Dec.2018/Jan.20l9

Estimating a,!ild,$osting ,**:n.

Time:3 hrs. Max. Marks:100
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-,i 6i
o

Z

Lo

:,.,:i ,* +i1

Note: 1. Answer Q.No.1 compulp#i? and any FQURfrory QNo.2 to QNo.8.
2. Follow h,ritten dimensioits only. *";*i.r..
3. Missing data if aqrmay be suitably assurned,'"'....;i'

a.

b.
c.
d.

Fig.Q.1 shows the details cf,'a small residential uqfiu*p.r€pare a detailed estimate for below
mentioned items of work by "Centre-Line Method".
Centre-line calculali-oq'det;ils. ;i. dr (10 Marks)
Earth work in excavation for foundation @ Rs200 per cu M. (10 Marks)
PCC Bed for"forpdttion (l:4:8) @ Rs.325fiffiCu M. (10 Marks)
coursed ffi Masonry in cM ,,;lr* 

"urdation 
and Phnth @ Rs.3600 p.. cu(lf*u"u.)

Write detailed technical specification for:
Earthwork in excavation. ..,. 

'""'' _ ., (05 Marks)
DPC I :3:6. I tot Marks)

Write short notes on:
Schedule of Ratesr..,,;;1. "!!" 

r:, r,,' ,i-...,r:,::,,"r', (O5Marks)

Work-chargeaepihUlistrment. .,-,$fl. (05 Marks)

Di ffereffiia'tb between the follow'iitgi
Revised estimate and supplementary estimate. (05 Marks)

Square metre method esfimale and cubic mejrtg'"lnethod estimate. (05 Marks)
S.,ygurity deposit and,,gti1fun money. l,I (05 Marks)
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Define rate analydi'$;and mention its purp6ses. (05 Marks)
Define the ter-,m*gcfhtract. What arq,.the,+ssential requirements ofa valid contract? (05 Marks)
What is tendeii?,Explain differen6.elEssifications of Tender. (05 Marks)

a.

b.

c.

a.

b.
c.

a.

b.
c.

f,4.
b.
c.
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Calculate the quantities of-.effiwork for 300m length for a portion of road in a uniform
ground. The height of the bariks at two ends being 1.0 and 1.3. The formation width is 6.0m
and side slopes 2:1 (Flofitohtal Vertical). Assume that there is no transverse slope, Calculate
the quantityusing Mid;section method, mean area method and Prismoidal methods'.

:,.,. .,,,., (15 Marks)

Fig.Q.7 shows th0.,details of RCC column. Calculate the quantity of concrete and steel.
(15 Marks)
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Fig.Q.8 shows the details of septic tank calculate the quantities for:

?cc ctrrt:8)
(o.1rrr hli4*()

09ARC6.6

(05 Marks)
(05 Marks)
(05 Marks)

Earthwork in excavation.
PCC Bed in l:4:8.
First class brickwork in CM (1:6).
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Fig.Q.1
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